


Nonlinearity

» 1. Gradient Descent Algorithm= ot 2B f(x)=x(if x>0) or
O(else) &7 ULt O 5 = 2
(threshold)E& EoH 4= S1A|7|= S = oHCL

w1 x+b
W2*x+b2

al = f(z1)

a2 = f(z2)

y1l = w3*al+w5*a2
y2 = wd*al+wb*a2
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Nonlinearity
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Nonlinearity
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Linear regression
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Loss function

. Lossg golg If ofef MSERF €2 & ArESHY =L G
USH |oss SH=0f CHBHA] &

« (2X4) (1) Softmax A AQF cross-entropy lossef=2|
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* (ZX|5) Gradient Descent= O|&0l Gradient Ascent= Sl OFct
CHEH O] & OfF A 2&3l0f St=7t?
. (_E__xﬂ@) o2 Z29| Loss @ #CHI CHoH Z=AFSED(BCEloss 2| 470

|“) Loss £ I*OlOPE 10| =01 %l task01| HEAH =2
0| K|S x| A TSIA| Q.
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